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Candidate must write first his / her Roll No. on the question paper
compulsorily.

At U9 g wA A E|

All the questions are compulsory.

TelE Ty @1 IR &) T Iw-gfeae d @ fad

Write the answer to each question in the given answer-book only.
R gt o Sl @UE g, 3 Tl & IR o | # ford)

For questions having more than one part, the answers to those parts are to
be written together in continuity.

o —0A % B F sl i o et wwR i g / et / ke e w Ry s
&% U¥ & HE A

If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated

valid.
Ty A 21 A 23 # =it fowea §l
There are internal choice in Q. No. 21 to 23.

P-07-Scienc®

Tear Here

¥ T3 W TR % R o wE
TEAR HERE TO OPEN THE QUESTION PAPER

:

B

1220 [ Turn Over

|



2
YE - H

SECTION - A
TEfwed vy,

A) TS T vl freen v IR § R -

Multiple Chojce Question -

Write the correct option of answers of the following queStions in the answer

book-
Ay e T T et g o e @ - 1]
(@) Feafem (F) wEdEtE
(W) uEnfrs swer (@) e
Example of hormone which inhibits growth is -
(A) Gibberelin (B) Cytokinin
(C) Abscisic acid (D) Insulin
iy uftass w1 @ar qm v &\ @ sgen & o soerd 20 1]
() swieTsh (%) sumfGes
(™ SRR (7) weawiess
Which part of brain is responsible for maintaining the posture and balance
of body?
(A) Cerebrum (B) Fore - brain
(C) Cerebellum (D) Mid-brain
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ii#y RrYy i) €= &1 215 stgmn gy -

[1]
(31) =, &

(@ glew, e

(&) e, dien

() glfer, =

External featﬁre of genotype RrYy will be-
(A) Round, Green

(B) Wrinkled, Yellow

(C) Round, Yellow

(D) Wrinkled, Green

i) S & Feltaneia Bia 1 g R (1]
() waq Fai ‘
(@) ug=
(W) wrge
(q) w=H

Example of renewable source of energy is

(A) Wind energy
(B) Petrol
(C) Coal

(DY Wood
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1]
(w) wfew (=) =g
() <ume (}) Ter
The old concept of water harvesting in Rajasthan is -
(A) Khadin (B) Bundhis
(C) Bandharas (D) Kulh
sy o e ot &, @i (x) o e - t

Fie=

TTTTT7 77T 7777777777
(/) 60° = 90°
(@) 45° () 30°

In the given figure, the value of angle (x) will be :

Normal

Incident ray Reflected ray

| x
-

T 7777777777777 7777
(A) 60° (B) 90°

(C) 45° (D) 30°
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(31) SreRTT fEEl
(W) Yacit s AR (H15e)
« The muscles of the iris controls
(A) Optic nerves
(C) Size of pupil

(1]

(=) I3 =g 1 Wi g
(7) frcecha | &t STHR

(B) Focal length of the eye lens
(D) Shape of crystalline lens

wiitrkwh Rea sitfrs aftn =1 amrs 22 [1]
() v (@) e 3=
(®) wam (3) ==
Which physical quantity has kwh as its unit?
(A) power (B) electric energy
(C) momentum (D) force
ixy it ¥ Pram @ et R e foege oftew  af (y) # et 1]
____"'{ e — -__ﬁl
y
_____T{E:,:._._

(31) dreed (R) ol
(|) fagaas () iR
Identify the device (y) in the given electric circuit related to ochm's law

., _"‘{ |7 _,____.__1

ﬁ—i@;—" ' LAV LY . _,'J

y |
_ _f.':.‘z-l.—__,. i
(A) voltmeter (B) key
(C) electriccell (D) ammeter
P-07-Science 1220 [ Turn Over
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) mﬁﬁ%mmmmﬁﬁmg- [1]
(1) o (}) Hemwr
(m) fagaritam ()

The process of black coating on silver in environment is -
(A) Reduction

(C) Rancidity

(B) Corrosion

(D) Double displacement

xt) Al, Fe #n Zn it sfafrafeom & w@ agm w0 2 - (1]
() Fe < Zn < Al (@) Fe< Al<Zn
(@) Al <Fe <Zn (¥ Al<Zn<PFe
The correct ascending order of reactivity of Al, Fe and Zn is -
(A) Fe<Zn < Al (B) Fe<Al<Zn
(C) Al<Fe<Zn (D) Al <Zn < Fe

xit) CH,COOH+CH,-CH,OH = [A] + H,O 3wt arfufgran & dfves [A] R -
(1]
(%) CH,-CH,-O-CH,-CH,
(@ CH,-CH,-COOCH,
(® H-C-O-CH,-CH,~CH,
0
(®) CH,-C-O-CH,-CH,
0
CH,COOH+CH,-CH,0H —2¢¢_. [A] + H,0 Compound [A] in above
reaction 1s -
(A) CH,~CH,-O-CH,-CH,
(B) CH,-CH,-COOCH,
(C) Ha(”:—O-ACHz—CHz—CH;
O
(D) CH;‘E_O'CHz_CHz
0
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Fill in the blank places -

i ARG R et s 1]

The saliva contains an enzyme called salivary

i) S e g R T e e wh e s wa @ e i
........... rac k] (1]

Advantage of vegetative propagation is that all plants produced by this are

genetically to the parent plant.

) derd R Aw o g smeRa AR E, L e § (1

Substances that are decomposed by biological processes are called

1 L]

¥} Ia® & A g 8 e & 21 (1]
Like poles of magnet with each other.
v) fore 8 afRm ane w1 weRBE A L 2l 1]

Chemical name of acid present in vinegar is

yi)  yfas stad anoft el snad O efRm aRi REEm LD [1]

Number of clements present in third period of modem periodic table are

P-07-Science 1220
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Very short answer type question (Answer the question in one word or 111 Gne
line.)

i) il & fn el R Brifia T 27 [1]

Which mechanism regulates the action of a hormone?

M) wgeE wafin w3 T o st o A e (1]

Write name of an organism that exhibits multiple fission.

i) et g 5 v @ % e s R u

Write one disadvantage of using fossil fuels.

W TiRaA & Iriauesh S Uh I G| (1]

Give one example of abiotic component of ecosystem.

¥ R alE P=50%@ Q = 8 x 10 Q x m % = & Ta anh w
W P 3 Q & wma um ferRam [1]

Write the corresponding values of two physical quantities P and Q for
which the length of conductor P = 5Q and Q = 8 x 10~ Q x m are reduced
to half.

vi) & gahE & T u - g @l aftedy @i i e (1]

Why two magnetic field lines do not intersect to each other?

1220
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Draw di .
. 1agram to show lines of magnetic field inside and around a current
carrying solenoid.

yi) TN i 2 e i (1]

Define neutralisation reaction.

oy YR et e frfRang [1]

Write modern periodic law.

%y CuO+H, = Cu+ HO
I fifenan & aafim @ T iR W am ki) [1]

CuO + H, _Heat ,Cu + H,O

Write the name of reactant reduced in above reaction.

~Hy maEE, #0 aen difegy § @ ga) wer gt F am R [1]

Write name of hardest substance among iodine, diamond and sodium.

iy’ 09 6t szl g v @ Rt SRy 1]

Draw electron dot structure of methane.
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SECTION -B

T TH-T WO 04 / 16 % Im g # R | (wreg e 50 TR)

Short answer type question-Write the answers of question number 04 to 16 in
answer book (Word limit 50 words)

AT Sa v = ot SR 2]

Define life processes.

5 THenll qu A aRfe R e e 4 e free [1+24Y2=2]

Define unisexual flower and write two examples of it.

_6) aftwm w uwrun & sigRo @ awited R sl [2]

Draw a labelled diagram of the germination of pollengrains on the stigma.

B wataro % faftm gest & &= st & waE w aweEs| 2]

Explain the flow of energy between various components of the environment.

B iy
A1)

P-07-Science [ 1220 ]

R F e H ufem Sfag
FEA % Uv9-gyd gUUT % ¥U A TE el i w Am ke

[1+1=2]
Define magnification of lens.

Write name of spherical mirror used as rear-view mirror in vehicles.

g farwar it aftwma difm
< % A Fem w smenfia e 2 afert 3 Rk

ll.|.]_:21
Define electric potential difference.

Write names of any two devices based on Joule's law of heating




il
o o 3 8 T SR 35 3o 5 7 1 g oy 2)

Derive the formula for he combination of three resistors connecled in sernes.

) iy frgen TR W R e et (qwementt) w3 e (arod) siiv i it A6 22
(2

Why are tt}e household electric circuits, the electric appliances (instruments)
connected in parallel combination?

12y iy e T AR (o ) B for
i) faga ST RO wfrafen S

[1+1=2]
i)  Write Fleming's left-hand rule,
ii) Define electromagnetic induction.
113) st aen e Bt aitnfe Hfe e

Define roasting and calcination,

Mﬁnﬁqﬁﬂamﬁmﬁﬁ%mqﬂﬁﬂ%mﬁmaﬁaﬂaﬁ%ﬁgﬁﬂnﬁmﬁm-
[1+1=2
1) Na
ii) 443K T9HA W qQ1E H,SO,
Write the balanced equations of chemical reactions of ethanol with following
reagents -

1) Na
if) Concentrated H,SO, at 443K temperature

15) | vt wramn #t fafm i) 2]

Draw the micelle structure of soap.

Jﬁf?ﬁ%ﬂ%mﬁwaﬁmt 2]

Explain Newland's law of octaves.

07-Sci 1220
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SECTION_- C

1
4 TR T v 17 @ 20 & T SRR & R | (e W 100y

g 17 to 9 :
Long answer type question-Write the answers of question number 20 i

answer book (Word limit 100 words)

M) =R A wifda g A e @ s R

[1+2=3i

Write the name and two functions of the hormone secreted by ovaries.

8] e e i @) ferfi SR

Define homologous and analogous organs.

A9Y 4y R Rt it weta 3 37 e
At mﬁ%ﬁa(ﬁm)mh%aﬁﬁﬁ%?

i)  Why do stars seem to twinkle? Explain.

i) Why are the danger signals red in colour?

26) Freafere 1 @ e o v T e e
A s sl
) frir e
Explain the following by giving one example of each -
1) Combination reaction

i) Decomposition reaction

P-07-Science | 1220
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ECTION -D

ﬁ!ﬂmm-mmﬂﬂzsiim:mgﬁmﬁﬁﬁn(mmzsumﬂ)

Essay type question-Write the answers of question number 21 to 23 in answer
book (Word limit 250 words)

21) ) =radE vEER B uffe S
4D R v W & arg-ant #t v
jﬁf'wmawaqaﬁaanmmﬁhaﬁmingqh

[1+2+1=4]
1)  Define aerobic respiration.
i)  Explain air - passage of human respiratory system.
) Draw a labelled diagram of human respiratory system.
Fu=/OR
1) URA R afnita fifm)
il) WA & ared § s W yive @ ey
iii) WA % UreA 7 (HETATA) S itk R )
[1+2+1=4]

1) Define digestion.
1)  Explain role of pancreatic Juice in the digestion of food.

i} Draw a labelled diagram of the structure of human alimentary canal.

P-07-Science 1220 [Turn Over
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i
)ﬂ/?ﬁwfﬁﬁﬁuaﬁmﬁaﬁnﬁmMcm%ﬁﬁﬁm@m (2424

) ; when the obje
i)  Draw ray diagram for image formation by concave mimer "
is placed at its focus (F).

- - : ind its fi
ii) If the radius of curvature of a spherical mirror is 14 cm then fi ocal

length.
Fa1/OR
) e S R whf o g R 8 R R aEd, wafs o F 2F, ey
R

ii) af o ofa R emar + 2.5 D ¢, @ 36 weww gt T AR
[2+2=4]

i) Draw ray diagram for image formation by convex lens when the object 1s
placed between F, and 2F . https://www.rajasthanboard.com

ii) If the power of a lens is + 2.5 D, then find its focal length.

23).4) it s S O I fel

) T & urh | FrEAEEHiEETEE Ha H v R i [A] 1 F&d-FENT T 8,
R =il sreafive AT A FTEEEEETEE A ) yafid fan W @ v ww | reaE

varef [B] ava & | [A] @ [B] & vamwafs g3 aun ffga vamafs afufranatt & wrlftsron
ferarg

[1+3=4]
i)  Write any one example of olfactory indicator.

ii) White precipitate of compound [A] is formed on passing carbondioxide
gas in lime water. if excess quantity of the carbondioxide is passed in it

then a water soluble compound [B] is formed. Write chemical formulae of
[A] & [B] and equations of chemical reactions involved.

P-07-Science 1220




1)

15
He@1/OR

g & 1 pH WA ferfam)

ii) ﬁﬁ&nrmﬁﬁnéhnnlmggﬁﬁ&m3nawﬁeﬁﬁ%m1ﬁimﬁm[A]aﬁn%|[Alaﬁ

1i)

auwe e R 2 1 [A] S Tefry e § Rre Teia w0 w Ak Egieee
T & | [A] 1 Tt T gen Afe et s & wwdeo el
[1+3=4]

Write pH value of pure water.

Compound [A] is formed by the reaction of sodium carbonate Wit.h
hydrochloric acid. [A] is also called as common salt. Sodiumhydroxide 15

formed on passing electricity in aqueous solution of [A]. Write chemical
name of [A] and equations of Chemical reactions involved.

353536



